—BBFUTIVAFTASYX VS (1282088 %)

" 5 Bk (REFIE |FEW e /.
IR A E & (B B 7.11 G8 [8.15G8 [10.16 G5 RAH
1[/ME EEWLVHENTC) 90 41 131
2|;E8 ATLVHENTC) 63 63 126
3| KREBLEIKF) 90 90
45R1E HEI(J—2TCHE) 41 41 82
5|i%R “th(F—LaLT) 14 14 48 76
6|8 a(L\HENTC) 41 23 64
11BH #(BIGOT) 14 34 48
8 AR H#—(HAXE) 23 23 46
8liEE FH(T=ZR1=/\—R) 23 23 46
10[/MiZE FRt(BARTIH) 14 12 26
1|SR HHEEFLUT=X35D) 23 23
1578 5@ LT=X9357) 23 23
11[EE ARKRGEEERERHTC) 23 23
14[8;F EBEAIR 22 22
14788 JHEXIH 22 22
16| XKJIE BEELXE 14 14
16[{E#E Z(T=-R1=/\—X) 14 14
16[=78 F{EBIGOT) 14 14
16[/M Mz {E—EBR(BIGOT) 14 14
16[FH EZEC(H@EXFE) 14 14
16|28 BEF—T=XF) 14 14
16[HE RIEGEBITALA) 14 14
16| H EXELFERS) 14 14
16K B—(Qoo) 14 14
16| E% ¥ K(GATCJr) 14 14
16|FER CHWELERS 14 14
16k EE(F—L-O3LT) 14 14
28|1Ek EH(NOBU) 12 12
28[/MI iER(GATCUr) 12 12




. 35#&131J:%¥~>>7»7\FTA3>$>%7‘¥2H20E|§E:EE)

[ = 7Y EEFE (REN N

o E & & B 711 G8 [8.15G8 [10.16 G5 RAE
17187 shiRALEMEE) 63 34 97
2|KE % (S0TC) 90 90
EE BRURRIYSD) 48 48
A3k #5(SOTO) 41 41
4|EIR F 2 (Qoo) 41 41
6| K& fRA(TC-KIRARI) 23 23
Ji 0




- 40U EBFOUTILAFTASV XS (12 H20BH#H)

I = BK | BEFE (REF PR

jid E & & B 711 G8 [8.15G8 |10.16 G5 RAE
8 RTITTRNDE) 90 90
g RBEBET=—XY57) 63 63




iz 45#&131J:%¥~>>7»7\FTA3>$>%7‘¥2H20E|§E:EE)

I = 7Y B EFIE P EN N

o E & & B 711 G8 [8.15G8 [10.16 G5 RAE
11RE B—(REIY5D) 90 48 138
2R BthELIY) 63 63
3|HAT FEX(SOTC) 41 41
3B BRGBIAIITFI—I) 41 41
5|8k £ F(EFFET) 34 34
6|HIL F—FL2D) 23 23
6180 SXURIRTC) 23 23
6%k E=—(EtLa@) 23 23
6|FF IEAGFLID) 23 23
10 0




. 50RLUELEBFIVT )bZFTA?‘J:\'-‘/Z‘ ;§< 12820 El%%i&)

[ = CETY EEFE (REN e /.

iz E &M@ B 7.11 G8 [8.15G8 [10.16 G5 RAE
1FE FFWETTC) 90 48 138
2;E0 EEMy Way TC) 63 63
EE E(TITTRNE) 41 41
=5 RERBFAKTC) 41 41
5|fa KR 1Esr@ED—) 34 34
6|FH I—(TITTERENSR) 23 23
6| KIFE EABBHSMTFI—IL) 23 23
8iEA BR®GBIMNT7I—I) 22 22
9 0




- 55#&131J:%¥~>>7»7\FTA3>$>%7‘¥2H20E|§E:EE)

I = 7Y B EFIE P EN N

o E & & B 711 G8 [8.15G8 [10.16 G5 RAE
1[&E FEHKAVTO) 90 90
2%k RAIGELD—2) 63 63
/AR BE—(HIMT7I—I) 41 41
SR 1B AVTC) 41 41
5 0




- 60RLULEBFIVT )bZFTA?‘J:\'-‘/Z‘ ;§< 12820 El}fﬁi&)

[ - CE7Y B EFIE P EN N

o E & & B 711 G8 [8.15G8 |10.16 G5 RAE
&% BB (JLZTC) 90 34 124
21EAR Jteh(RETHSD) 63 48 111
3|FE i —(REER) 41 41
3|fEth ERRET=XY37) A 41
5 0




- 7O0RLUEBFIVT )bZFTA?‘J:\'-‘/Z‘ ;§< 12820 El}fﬁi&)

I = CE7Y EEFHE |REM PR

jid E & & B 711 G8 [8.15G8 |10.16 G5 RAE
1[iE8 FAXRBEBIVTC) 90 90
2|51 IFER(RIETC) 63 63
3 0




—BLFUTIVAFTASYX VS (1282088 %)

" = Bk (REFIE |FEW N
I AL E & (B B 711 G8 [8.15G8 [10.16 G5 RAE
1[;RF_#3%(GATC) 90 90 180
210 #BEF—L-OLT) 63 41 104
3|{FEk A5 E(GATCJr) 41 48 89
4|8 EE(F-tennis) 63 63
5| 2% HRICGEILEUEX) 41 41
5|18 FEZHEEEX) 41 41
71880 EEFEEISLZT) 34 34
811y HEBFALUYD) 23 23
8|1#EH FHEEEX) 23 23
8|EH WERFHREREKXRS) 23 23
1M[EX HITEEESLZT) 22 22
11ER BEEEXT—T=ZF) 22 22
13 0




iz 40 LLEEZFIUYT )bZFTA?‘J:\'-‘/Z‘ ;§< 12820 El}fﬁi&)

[ = 7Y B EFIE P EN N

o E & & B 711 G8 [8.15G8 [10.16 G5 RAE
1[BB/E 1RF(GATC) 90 90
2|EE FHFHSHhITFI—IL) 63 63
3 0




. 50ELlLEEZFIUT )bZFTA?‘J:\'-‘/Z‘ ;§< 12820 El}fﬁi&)

I = CE7Y B EFIE P EN N

o E & & B 711 G8 [8.15G8 [10.16 G5 RAE
1B AIFFERLTC) 90 90
218K EHEFIVTIC) 63 63
3 0




